SA-130



A WDN P

16

15

[~I1
A~C
I~iv

18

9550 (
19
13

)



8 4

185

25

5x5

Hamilton

AN AN N N
SN N N N

()

Network

Path




(

Path

Disconnected
Connected
) [The Hamiltonian Circuit Problem ( )
1859 (William Hamilton)
3-7
3-7
3-7 20 20
(Hamilton path)
G=(V, E)
1.
2.
3. 2
2 ( 0 1)



6 . n G=(V, E) n-1
n
( ) [|Pick
(interior points) (boundary
points) i b b=2)
L
L = (1)=i¢62)=b+{3)b2==(4)
(1) ~(4) (3)(4)
A
A=b+i-1 (5)
A=Db2+i (6)
b i
31 3-2 3-3
31 3-2 3-3
(n o) @y b-xif(1v) b/ 2|(¥) i
10 2 11 7 6
17 5 21 13.5 12.5
9 7 16 11.5 10. 5
(i vy av)y (v) (5)(6)
(1 V]V) 1
(6) A = b/l 2 1+ i(7)
(fit) 31 33



(7)

1 étomic or primitive
triangles )
3-4 1/ 2 (7) 3/ 2 —+10%/ 2
(7)
TR E RN XN EBNENENY BN J
TR N N NN LN %:i.
S1issgsonts ot
RN NN NENE RN, L N
3-4
2
( ) (
L]
L
L]
L]
L
L]
L]
3-5
3 r
Mo 1417 I b [ r{ r, by
o)) i1 i2 Ny T2 bs
b= Dby + by — 203+ 2
i=ip+ip+b3—2

bl2+i—1= (02 +i1-1) + (b/2 +ir—1)
(7) (additivity)
(7)

A=b2+i-1
b [

35

M



Basi c

2.
(1)

ll{ifrb@i
@i@-@(z)
i@i{i}i
BReme®
N RO

()



1 (2) (3)

3x3 7-1
.1 .2 Il .ﬂ .B .ﬂ
‘2 13 .2 .B * *p
L, W%z b | @ o *p %
A B
7-2
1 3 2

X

SSERES
1
@ X
OB OHR O
X )
2
()
3x3 3x3 5x5
5x5 3x3 ( 7-3)
'1 .2 .1 .ﬂ .B .ﬂ

.2 .3 .2 'B .ﬂ 'B
e * ¥ @ o g,

"] #2983 939

*) SR®) *E*
7 & 3 ¥ ¥ spey e, op
3 87 84 93 83 'lﬂ .'B .ﬂ .B iﬂ

*2 9] *2 9] *] .B.ﬂ .B'ﬂ 'B
] #2983 82 ¥ @ .ﬂ .B ..!. .B .L 7.3

()



4x4  6x6

2kx2k
( )
2x2  4x4
4x4 ( 99
1. 1 ( 101
D X
2 2kx2k
2. 2 ( 10-2
—( ) 1
3. 3 ( 10-3
2%2
[E10-1] [H10-2] [H10-3]
4x4
6x6 a ( 1049
[EH10-4] a
1.
4x4 ( b) 10-5
[E10-5] [810-61] [E10-7]

2. 10-6



[E11-3]

<
X
< o
0
X
<
e
<
=)
— |
< I
_
N N l
wurul
o = (=
—
i
0 o
©
AT
o009 M
. +.-c.+__|_
— N NN
LI L I QN e
' EEX X NN
»?-..T#.?#.f.ﬁ
e ~ il

5x4

11-2,3)

8x8

g\

soo6l000e
ERREILN NN

PoRE T o4
H__.__ LIS
elo oo w

4x5

2x3

3.S

)

(

3x3 5x5

(B)

(A)

12

13

3x3
5x5




B B A

B_A_B_-A-B-o
A B B A
3x3
[ BLA_B_A_B_A_B_-A
s A A
EA B
AB A
()
2%2
2x1 2x2 2x3 2x4
L ] & & * & @ * & & &
[ & & * & & * & & &
N 2x2k  2x2k+1
3x1 3x2 3x%3 3x4 3x5
* . * @ ® *® o @ @
L . @ e - e & e @
@ . » . . . @
3x4
(B ) d B
ab c B
d 90°
90° b 90° C 90°
d=a=b=c
3x6 (14-1) 3x7
( 14-2)
. e e e
i Rpslve
* @ eE e @ e
[E14-1] [E14-2]

4x1 4x2 4x3 4x4



4x6

g5

4x5

. @ e e

4x7  4x8

4x4  4x3

3x7

ABABA

)

(

- M M © O




(

15

(Xl,XZ)

15

)

2nx 2n or

B

2n+1

2n—
2n+1x | 2n+1—

4x4

15-1

(1,1)
3x3

Nt

(X IOT
cees

15-1-1

(1,12

B

4x4

YaBasic

4,10

(1.4

(4,4 151

X2

151-1

15



i1 4,1

A

}S{

IEEEMES RS

1. 15 0

0O 0O0OOOOOOOOOOOODO

2. 1

0O 0O0OO0OOOOOOOOOOQOOT1

3. 1 4 10

0O 0O0OOOOOOOOOOOODO
-00O0OOOOOOOOO OO OO OGOTIZ2
-0 0O0OOOOOOOOO OO OO OO O?2
-0 0O0O0OOOOOOOOOTQ O3
-0 0O0O0OOOOOOOOOOTZLIO
-00O0OOOOOOOOOO OO OTI1I1
-0 012 -0 013 -0 021 -0 022 -0
030

- - 33 3333

4.

0003 11130003111

5. 3

(1,1 (1,2

023 -

3x3



/ =3
(X1,X2)
X1=1
X2=1
=1
X=1
Y=2
=22-05-57-3892
=22-05-57-3892
/=3 (131)
Anocther test? (y/n)
2x2 1
5x5 6%x6
(Brute
force)
() Hamil t on
Brute force
4x4 4*°
6x6 4%
4x4 4

Hamilton circuit
Hamilton circuit
4 16

Hamilton

Hamilton
15-2 1 53



1 55) Hamilton
Hamilton

Hamilton

4x4
16

@ 154
n 1 56

Hamilton circuit

Hamilton Circuit =

152

156 157

Brute force

Hamilton circuit

1 53
( 154
1 55
1 57
152 153
( )

15-8
Hamilton

Hamilton




158

Hamilton 15-9
Hamilton

{tﬁ 1 59

Hamilton circuit

Pick
mxn/2-1

4x4 4x4/2-1 7
(ssmple polygon) Pick

Pick 15-10 8
7 Hamilton
ﬂ 1510
161
161
162
5 8 8 sl 1al Il
5 8 & lgl 1gl Igl
) 2 8 a8l 1al I3|
2 & & ar rar Ial
8 3 2 121 gl gl
BA BB 1 61 % SisE & 162
4x4
Pick 7

41° C(16,7)



1. 4x4 416
Log4'®=9.632 =>4 10
2. C(16,7)=16%x15x14x13x12x11x10 / 7x6x5x4x3x2x1=11440

3.
Hamilton
1 63
163 P(point) V(vertical line)
H(horizontal line) C(cubic)
Hamilton circuit 3
()| |

— B —
2nx 2n or 2n+l

2n—
2n+1x | 2n+l— B

([ |

() | Hamilton circuit
2 . Hamilton Circuit = >
(2) =3




3. Hamilton circuit

4. mxn/2-1
()
4x4 6%x6
43 C(36,17)=36x35x34x33x32x31x30%29x 28x27% 26X 25x24x 23x21%20
=>|0g4*=72l0g2=21.672=> | 17x16x15x14%13x12x11x10x9x8x 7x6x5x4x3x2x 1
22 =30x33x31x29x2x25x23x21 =2.1x10™
4x4  6x6
AMDx(n+1) ‘ C(nz’ 2/ 2-1)
() nxn (Y
Hamliton
C(r?, n?/ 2-1)
Hamilton
Hamilton Hamilton Hamilton
2x2 1 1 3x4 6 2 4x4 36 6
2x3 1 1 3x6 4 5 4 4x5 220 14
2x4 1 1 3x8 3614 8 4%6 1365 37
2x5 1 1 4x7 8568 92
4x8 542614 236
Hamilton
v Hamilton
() mxn( )
nxn mxn



Hamilton circuit Pick

mxn (m-1)%x(n-1)
( 4)
4x3 2nx2n+1 Pick
4x3[2+1=7 Hamilton circuit
() Pick

1. A
B
2. C S
D
3. AD

Hamilton circuit

£1x1 (1,102, 1)1, 2)
171 2x2x2 (1, 102, 103, 101, 2)
(2,201,3) 172

171 172

Hamilton
circuit method



()

Hamilton
circuit Hamilton
nxn
(1,1) 15 4%
01 2 3
«( )
6%x6
435
Hamilton
Hamilton circuit Hamilton
1. 2. Hamilton circuit 3.
mxn/2-1
4x3
Hamilton circuit 4*?
4x3/2-1 (Pick ) 5
A XD C(r, n*/2-1) n
Hamilton Hamilton X vV X
Hamilton



()

1. ( 89)
2. Donald W. Blackett ( 61)
Elementary Topology: A Combinatorial and Algebraic Approach

3. W.G. Chinn, N.E. Steenrod ( 59
4, ( 795
5. 49 314 John Mason,
Leone Burton, Kaye Stacey ( 87 Thinking Mathematically
6. ( 88)
7. ( 87
1. 63
http://www.ytlee.org.tw/ytlee2- 1/ytlee2-1-63.asp
2.
http://ww.math.tku.edu.tw/
3.
http://www.edp.ust.hk/math/
4.
http://mathsclub.hypermart.net
5.

http://www.cis.nctu.edu.tw/~is83039/di scret/di screte6.html

()

Hamilton circuit
Hamilton curcuit or Hamilton path

Hamilton

Hamilton Hamilton
X vV X



(

3x3x3

Hamilton

)

— Harry



2x2 3x3 4x4 |

(12,12, 1)(1,2)(2, 2)

2 2 2 2
(1,17~ 1 1 T
(2,1)1 T~ T 1
(1,2)1 T~ T~
(2,2)

4 4 4 4

2x2

(1,102, 103, 101, 202, 203, 201, 302, 303, 3)

e e e e e e
W NP WODNNPFP WDN P

OOOOOOI\)I\)I\)I—‘I—‘I—‘

8 8 8 8 8

\s\\\\\\
\\\\s\\\\
\\\\\\s\\
e

20 14 20 14 16 14 20 14 20

2%2

(12,102, 103,104, 11,22, 203,204, 2)

(D, [T~ 26 21 26 19



S )3
LTSI
AT IATAIA
bl
LT
]
I EVETIENETTEY.

8 2 8 2 170 8 2 112 112 82

170

302, 303,304, 3 1,4)X2,403, 404, 4)

(1,

36 36 25 52 25 25 52

25

NSVIaE

<s<\§<g

112 112 82 170 8 2 8 2 170

8 2

SN N’ N N N N N N N N N N N N N

SN N’ N N N N N N N N N N N N N N




2%x2




REM
LABEL START
CLEAR SCREEN
Input " /  ="DD
2" (X1,X2)"

Input "X1=" X1
Input "X2=" X2
REM
INPUT " ="p
IF P>0 THEN
DIM U(P):DIM V(P)
FORS=1TOP
PRINT" "S" X=":INPUT U(S)
PRINT" "S" Y=":INPUT V(S
NEXT S

Fi
TS$=TIME$:REM
REM D(R)

DIM D(DD"2-1-P)
FOR R=1TO DD"2-1-P STEP 1

D(R)=0
NEXT R
REM  A(X1X2)
DIM A(DD,DD)
REM 0
LABEL MM

FOR M1=1TO DD
FOR M2=1TO DD
A(M1,M2)=0
NEXT M2
NEXT M1

REM
11=X1:12=X2




REM
FORS=1TOPSTEP1
AU(S),V(9)=1
NEXT S
REM
FOR R=1to DD"2-1-Pstep 1
A(11,12)=1
IF D(R)=0 THEN 12=12+1:FI:REM
IF D(R)=1 THEN I2=12-1:FI:REM
IF D(R)=2 THEN I1=I1-1:FI:REM
IF D(R)=3 THEN 11=11+1:FI:REM
IF (11<1) or (11>DD) THEN GOTO QQ:FI:REM
IF (12<1) or (12>DD) THEN GOTO QQ:FI:REM
IFA(11,12)=1 THEN GOTO QQ:FI:REM
NEXTR
REM /
LABEL QQ
FORS-RTO1STEP-1
D(S)=D(S)+1
IF D(1)=4 THEN GOTO EEND:FI
IF D(S)=4 THEN D(S)=0 ELSE S=1:FI
NEXT S
GOTO MM
REM
For S=DD"2-1-Pto 1 step -1
D(S)=D(S)+1
IF D(1)=4 THEN GOTO EEND:FI
IF D(S)<>4 then S=1 EL SE D(S)=0:Fl
NEXT S
GOTO MM

REM K
K=K+1
REM
2" K=
FOR R=1TO DD"2-1-P STEP 1
?D(R);
NEXT R

(QQ)

(QQ)
(QQ)



?
REM
LABEL EEND
TE$=TIMES$:REM
?" =" TS$
2" =" TE$
2" /  ="DD,
2" (" X1,"" X2,")",
if K=0then?"  "ELSE?" "K, "Fl
REM
INPUT "Another test? (y/n)" A$
If (A$="Y") or (A$="y") then
K=0
GOTO START
F
END




3 Hamilton

REM
LABEL BEGINNING

CLEAR SCREEN

DIM F(3):F(1)=1:F(2)=1:F(3)=1

INPUT " /"N

FOR Y=1TO (N-1)"2
F()=F()*Y

NEXT Y

FOR Y=1TO ((N-2)"2)/2
F(2=F(2)*Y
NEXTY

FOR Y=1TO (N*2)/2)-1
F(3)=F(3)*Y
NEXTY
G=F(L)/(F(2)*F(3)):? G
IF (((N*2)/2)-1)<>INT(((N*2)/2)-1) THEN GOTO NOANS:FI
DIM P(N+1,N+1),H(N+1,N+1),V(N+1,N+1),C(N,N),B((N*2)/2)-1), W$(G)
FOR Y=0TO (N*2)/2-1)
B(Y)=Y
NEXTY
FORY=1TOG
W$H(G)=""

NEXTY

REM
FORX=1TOG

FORY=0TON



FORZ=OTON
P(Y,Z)=0:H(Y,Z)=0:V(Y,Z)=0:C(Y,Z)=0
NEXT Z
NEXT Y

FOR Y=1TO ((N"2)/2-1)
I=INT((B(Y)-1)/(N-1))+1
R=MOD((B(Y)-1),(N-1))+1
C(R,)=1

NEXT Y

REM Hamilton Circuit

REM
FORY=1TON-1
FORZ=1TON
H(Y,2)=C(Y,Z)+C(Y,(Z-1))
V(Z,Y)=C(Z,Y)+C((Z-1),Y)
IF H(Y,Z)=2 THEN H(Y,Z)=0:FI
IFV(Z,Y)=2 THEN V/(Z,Y)=0:Fl
NEXT Z
NEXT Y

FORY=1TON
FORZ=1TON
P(Y,Z)=H(Y,Z)+H((Y-1),2)+V(Y,Z)+V(Y,(Z-1))
IF P(Y,Z)<>2 THEN GOTO NEWBLOCKS:FI
NEXT Z
NEXT Y

REM
I=INT((B(1)-1)/(N-1))+1
R=MOD((B(1)-1),(N-1))+1
C(R,1)=8:A=1
LABEL COLORING:AA=0
FOR Y=1TON-1
FOR Z=1TON-1
IF (C(Y,2)=0) OR (C(Y,Z)=8) THEN GOTO NEXTBLOCK:Fl



CR=C(Y-1,2)+C(Y,Z-1)+C(Y+1,2)+C(Y,Z+1)
IF CR>=8 THEN C(Y,2)=8:A=A+1L.AA=AA+1:F
LABEL NEXTBLOCK
NEXT Z
NEXTY
IF AA<>0 THEN GOTO COLORING:FI

REM
IF A=((N"2)/2)-1 THEN

S=S+1:R=S

WSH(R)=""

FORY=1TON-1
FOR Z=1TO N-1

WSH(R)=WS$H(R)+STR$(C(Z,Y))

NEXT Z

NEXTY

GOSUB PRINTING
Fi

LABEL NEWBLOCKS
Y=((N*2)/2)-1
B(Y)=B(Y)+1
LABEL ROUND
IF B(Y)=((N"2)/2)-(2*N)+3+Y THEN
B(Y-1)=B(Y-1)+1
FOR Z=Y TO ((N"2)/2)-1 STEP 1
B(Z)=B(Z-1)+1
NEXT Z
Y=Y-1
IF Y=0 THEN B(Y)=-5:FI
GOTO ROUND
F
NEXT X
LABEL NOANS
REM
2" "S" "
LABEL RESULT



INPUT " 2= )"R
IF R<>0 THEN GOSUB PRINTING ELSE GOTO NEWONE:FI
GOTO RESULT

REM
LABEL NEWONE
INPUT " 2(yin)" K$
IFK$="Y" OR K$="y" THEN
S=0
GOTO BEGINNING
F
END

LABEL PRINTING

FORY=1TON-1
FOR Z=1TON-1
B$=MIDS(WS(R),((Y-1)* (N-1)+2),1)
IF B$="0" THEN ?" "; ELSE ? B$;:FI
NEXT Z
?

NEXT Y

?

RETURN



4 Hamilton

REM
LABEL BEGINNING

CLEAR SCREEN

DIM F(3):F(1)=1:F(2)=1:F(3)=1

INPUT " ="M

INPUT " ="N

FOR Y=1TO (M-1)*(N-1)
F()=F()*Y

NEXT Y

FOR Y=1TO ((M-2)*(N-2))/2
F(2)=F(2)*Y
NEXT Y

FOR Y=1TO ((N*M)/2)-1
F(3)=F(3)*Y
NEXTY

G=F(1)/(F(2)*F(3))
2" " ((N*M)/2)-1,"
2" G "

IE (((N*M)/2)-1)<>INT(((N*M)/2)-1) THEN GOTO NOANS:FI

H=INT(SQR(G)*1.1)
DIM P(M+1,N+1),H(M+1,N+1),V(M+1,N+1),C(M+1,N+1),B(((N*M)/2)-1), WS(H)

FOR Y=0TO ((N*M)/2)-1
B(Y)=Y
NEXT Y

REM
FORX=1TOG

FORY=0TO M+1
FOR Z=0 TO N+1



P(Y,Z)=0:H(Y,Z)=0:V(Y,Z)=0:C(Y,Z)=0
NEXT Z
NEXT Y

FOR Y=1TO (((N*M)/2)-1)
I=INT((B(Y)-1)/(M-1))+1
R=MOD((B(Y)-1),(M-1))+1
C(R,N=1

NEXTY

REM Hamilton Circuit

REM
FOR Y=1TO M-1
FORZ=1TON
H(Y,2)=C(Y,Z)+C(Y,(Z-1))
IF H(Y,Z)=2 THEN H(Y,Z)=0:FI
NEXT Z
NEXT Y

FOR Y=1TON-1
FORZ=1TOM
V(Z,Y)=C(Z,Y)+C((Z-1),Y)
IFV(Z,Y)=2 THEN V/(Z,Y)=0:Fl
NEXT Z
NEXT Y

FORY=1TOM
FORZ=1TON

P(Y,Z2)=H(Y,2)+H((Y-1),2)+V(Y,2)+V(Y,(Z-1))
IF P(Y,Z)<>2 THEN GOTO NEWBLOCKS:FI

NEXT Z
NEXTY

REM
I=INT((B(1)-1)/(M-1))+1
R=MOD((B(1)-1),(M-1))+1



C(R,1)=8:A=1
LABEL COLORING:AA=0
FORY=1TOM-1
FOR Z=1TON-1
IF (C(Y,Z)=0) OR (C(Y,Z)=8) THEN GOTO NEXTBLOCK:FI
CR=C(Y-1,2)+C(Y,Z-1)+C(Y+1,2)+C(Y,Z+1)
IF CR>=8 THEN C(Y,2)=8:A=A+1L.AA=AA+1:F
LABEL NEXTBLOCK
NEXT Z
NEXTY
IF AA<>0 THEN GOTO COLORING:FI

REM
IF A=((N*M)/2)-1 THEN

S=S+1:R=S

WSH(R)=""

FORY=1TON-1
FORZ=1TOM-1

WSH(R)=WS$H(R)+STR$(C(Z,Y))

NEXT Z

NEXTY

GOSUB PRINTING
Fi

LABEL NEWBLOCKS
Y=((M*N)/2)-1
B(Y)=B(Y)+1
LABEL ROUND
IE B(Y)=((N*M)/2)-(M+N)+3+Y THEN
B(Y-1)=B(Y-1)+1
FOR Z=Y TO ((N*M)/2)-1 STEP 1
B(Z)=B(Z-1)+1
NEXT Z
Y=Y-1
IF Y=0 THEN B(Y)=-5:FI
GOTO ROUND
F



NEXT X
LABEL NOANS

REM

2" " ((N*M)/2)-1," "

2" "G "

2" " "

LABEL RESULT

INPUT " 0= )"R

IF R<>0 THEN GOSUB PRINTING ELSE GOTO NEWONE:FI
GOTO RESULT

REM
LABEL NEWONE
INPUT " 2(yin)" K$
IFK$="Y" OR K$="y" THEN
S=0
GOTO BEGINNING
F
END

LABEL PRINTING

FORY=1TON-1
FOR Z=1TO M-1
B$=MIDS(WSH(R),((Y-1)* (M-1)+Z),1)
IF B$="0" THEN ?" "; ELSE ? B$;:Fl
NEXT Z
?

NEXT Y

?

RETURN






